
Part Desc Size Number Number for Both Cars Part Number
Part One Use? Desc Size Number Realoem URL Part Number Price Torque Angle

Torque

Rear Tension Bar

Yes

Hex bolt M10X40-10.9ZNS3 2

http://www.realoem.
com/bmw/showparts.
do?
model=DU93&mospid=49424&btnr=33_1333&hg=33&fg=30&hl=23

7119905655 $1.42 43 Foot Lbs 90 degrees

Rear Tension Bar

No

Hex nut M8-Z2 2

http://www.realoem.
com/bmw/showparts.
do?
model=DU93&mospid=49424&btnr=33_1333&hg=33&fg=30&hl=23

51138133382 $1.03 17 Foot Lbs None

Rear Suspension Brace

Yes

Hexagon
screw with
flange

M10X35-10.9ZNS3 6

http://www.realoem.
com/bmw/showparts.
do?
model=DU93&mospid=49424&btnr=33_1333&hg=33&fg=30&hl=23

31106772199 $1.61 43 Foot Lbs 90 degrees

Rear Suspension Brace

No

Hex bolt M8X12-8.8-ZNS3 2

http://www.realoem.
com/bmw/showparts.
do?
model=DU93&mospid=49424&btnr=18_0659&hg=18&fg=10&hl=9

7119904305 $0.8 15 Foot Lbs None

X-Pipe Bolt

No

Hex nut M8X30-8.8-ZNS3 6

http://www.realoem.
com/bmw/showparts.
do?
model=DU93&mospid=49424&btnr=18_0659&hg=18&fg=10&hl=9

7119902901 $0.25

17 Foot Lbs None

X-Pipe Nut

No

Hex nut M8 SW12 6

http://www.realoem.
com/bmw/showparts.
do?
model=DU93&mospid=49424&btnr=18_0659&hg=18&fg=10&hl=9

11621744323 $0.85

17 Foot Lbs None

Flat gasket Probably Gasket Ring NA 2

http://www.realoem.
com/bmw/showparts.
do?
model=DU93&mospid=49424&btnr=18_0659&hg=18&fg=10&hl=918307830674 $11.93 NA NA

Front Suspension Brace
Hexagon
screw with
flange

M10X35-10.9ZNS3 8 16 31106772199 $1.61 43 Foot Lbs 90 degrees

Front Strut Bar Brace Hex bolt M10X25-10.9ZNS3 4 8 7119905147 43 Foot Lbs 90 degrees
Rear Strut Bar Brace Hex bolt M10X40-10.9ZNS3 2 4 7119905655 $1.42 43 Foot Lbs 90 degrees
Rear Suspension Bar Brace Hex nut M8-Z2 2 4 51138133382 $1.03 17 Foot Lbs None

Rear Suspension Brace
Hexagon
screw with
flange

M10X35-10.9ZNS3 6 12 31106772199 $1.61 43 Foot Lbs 90 degrees



Rear Suspension Brace Hex bolt M8X12-8.8-ZNS3 2 4 7119904305 $0.80 15 Foot Lbs None

Euro Clips
LAMBDA-
PROBE
BRACKET

1 2 12517837573 $5.77

Air Pump Gasket
Gasket
Asbestos
Free

1 2 11727505259 $6.08

X-Pipe Bolt Hex bolt M8X30-8.8-ZNS3 11 11 7119902901 $0.25
X-Pipe Nut Hex nut M8 SW12 6 12 11621744323 $0.85
½ “ Shrink Tubing
Bushing Removal Tool (bent screwdriver flat head, 5”)

Shifter Bearing Bearing,
shifting arm 1 2 25111222015 $17.40

All Purpose Grease
TMK-
HM803110
bearing race
- ( From
summit
racing )
TMK-
HM803149
inner pinion
bearing -
(From
summit
racing )


